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1. Executive vice president, president, managing director, chief operating officer, chief executive officer,
or chairman of the board are positions associated with which of the following levels of management?
A ~ team leaders .
B~ middle managers
C ~ first-line managers

D ~ top managers

2.  The lowest level of management is
A ~ anonmanagerial employee
B - adepartment of research manager
C ~ avice president

D - a first-line manager

3. Someone who works with and through other people by coordinating theif work activities in order to
accomplish organizational goals is
A~ avery intelligent individual
B ~ a supervisor of production work
C -~ a manager

D - an operations supervisor

4.  The management process functions consist of

A ~ planning, organizing, staffing, and directing
B - planning, organizing, leading, and directing
C - planning, organizing, leading, and staffing

D~ planning, organizing, leading, and controlling

5.  In successful organizations,

A -~ low efficiency and high effectiveness go hand in hand
B - high efficiency and low effectiveness go hand in hand
C ~ high efficiency and hig_h effectivenessigo hand in hand
D - high efficiency and high equity go hand in hand




Managers with titles such as department head, project leader, plant manager, or division manager are

A ~ first-line managers
B -~ top managers ‘
C -~ production managers

D » middle managers

Managers who are responsible for making organization-wide decisions and establishing the plans and
go/als that affect the entire organization are

A~ first-line managers

B -~ top managers

C - production managers

D - research managers

is the process of getting activities completed efficiently and effectively with and
through other people.
.A » Leading
B -+ Management
C ~ Supervision

D ~ Controlling

An automobile manufacturer that increased the total number of cars produced at the same cost, but with
many defects, would be

A -~ efficient and effective

B ~ increasing efficiency

C ~ increasing effectiveness

D ~ concerned with inputs

Writing an organizational strategic plan is an example of the management‘function.
A ~ leading '

B * coordinating

C ~ planning

D - organizing
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Organizing includes
A - deﬁning organizational goals

hiring organizational members

B N
‘C ~ motivating organizational members
D -

determining who does what tasks

A manager resolving conflict among organizational members-is performing what function?

A ~ controlling

" B~ commanding

C -~ directing
D - leading

The process of monitoring, comparing, and correcting is called
A -~ controlling

B - coordinating

C - leading

D - organizing

An organization’s culture

A - constrains what managers can do and are rarely explicit
B - seldom constrains what managers can, cannot do, and are rarely explicit
C ~ -seldom constrains what managers can, cannot do, and are rarely implicit

D ~ constrains what managers cag, cannot do, and are rarely explicit

United Parcel Service (UPS) represents what relationship to the F ederal Express (FédEx)?
A ~ competitor ' '

B ~ supplier

C ~ customer

D - government agency

The single EU currency will be called the
A ~ franc

B - - franc-mark

C -+ pound

D~ euro
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. Which of the following is a factor of production'?.

A ~ bonds

B - interest

"C~ labor

D~ service

is the amount a business earns over and above what is spends for salaries, expenses and
, g

A ~ profit
B+ revenue
C ~ interest

D - retained earnings

A business incurs a if it costs and expenses exceed its revenues.
A~ liability

B~ debit

C- loss

D~ dividend

The resources that businesses use to create wealth are known as:.

A ~ production coefficients

. B ~ -:factors of production

C - production technologies

D - production aggregates

Last year, MacTeck Enterprises had total revenues of $24 million while its total costs and expenses
were $22 million. Based on this information, MacTeck:. '

A - eamed a profit of $2 million

B - eamed a profit of $24 million

C -+ suffered a loss of $2 million

D - suffered a loss of $22 million

is a person who takes the risk of starting and managing a business
A ~ entrepreneur
B - arbitrageur
C - speculator

D + account manager
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High tax rates tend to:.
A ~ increase standards of living
make a nation’s currency tradable

discourage investment and entrepreneurship

o O w

~ have no effect on the creation of wealth

analysis is used to help companies evaluate their economic environments, assess their
strengths and weaknesses, and identify competitive threats and market opportunities..
A~ SWOT |
B~ SWAMP
C -~ ASSET
D+ WISH

Ho Han has just spent two hours going over quality reports to determine whether his department is
meeting quality standards he set for the current month. Ho’s efforts are part of the function of]
management..

A ~ planning

B - organizing
C -~ leading
D

+ controlling
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